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WESES 41349 | £H 37,685 |[&E 64,321 |[&F 4676 |2[EF 8,642 |&F 4344 |£H 8,001 |&E 507 |£H 918
1|z th 54,312 |lufzth 50,565 |LLfzTH 78502 EHHH 8,800 |EHFHE™ 23,721 |F0FxUTH 5699 BT 12,244 |ELUH 1,095 |ELUH 1,981
2| FEH 49,751 |FEm 45106 |FriETh 76,561 | REFmh 8349 |RE™ 17,926 |ERE™ 5626 |FIFxLTH 12,022 |#BHRE[RT™ 813 |HH#EE™ 1,658
I RFM 48059 | EFm™ 43821 EHH 74,480 |EERATH 8218 |B&MtH 17817 |/KETH 5407 [E#TH 11,110 |FEmH 746 |#ET™H 1,323
A|EEXER| 47,095 |JKET 43,118 |Z=BwW 73473 |IuFzth 6,835 |LUfzTH 17,202 | #Fiath 5325 |#AUTH 10455 |#&ET™ 738 | FEM 1,303
5[KFEm 46,653 |FHET 42414 | FEmWH 73,312 #@ATH 6,732 |FkHETH 14347 |FHEM™ 5280 |fEE™H 10,176 k& 710 |lufgth 1,236
HEI=h 46,138 |FH#ETT 42341 |EHTH 73,147 HI¥BTH 6,368 |RiItE™TH 12039 $8HTH 4971 |FBTH 9,826 |&iRth 703 |FERET™ 1,232
1|FEET 45999 ERBT 42,284 |®#ATH 73114 |12B&Th 6,331 |{BETH 11,538 |;EH 4854 |EHTh 9,776 |MFTH 689 |[{l& 1,230
8|SLV-F T 45811 |ERIHRXER| 42,149 |BE[ETH 72,829 | H&ERTH 5743 |$riath 10,873 |EWATH 4801 |¥&th 9,614 |)I|&TH 672 | ZTHETH 1,221
9 tgE™ 45746 |f2BT™ 42104 ¥t 72,225 |[#FETH 5442 |R&ETH 9947 =BT 4610 |REKTH 9,459 |UFzThH 657 |&iRtH 1,154
10 #kET 45700 |§riBth 41881 |#ETH 71,763 FHE BT 5309 |FEH 9,751 |EUth 4580 |iEm 9,307 | EREF;mh 648 |JII&H 1,146
111 45634 |]I|&TH 41443 |FHET 71,219 #BTH 5276 |HH{EET 9,721 | Etath 4576 |RI&ET™H 8,993 |FH#ETH 646 |RIETH 1,140
12| #i|am 45,105 |SLM=FTh 41,319 KB 70967 |JKETH 5267 |#ETH 9,636 |EFFTH 4547 |JKBET™H 8,784 AW EMT 623 &St 1,139
13| BT 45066 |FHERT 40,904 ¥ luth 70,360 RI&TH 5263 |IKETH 9,634 |#lth 4541 |f@8H™ 8,643 |riETH 619 | K:iZETH 1,138
14|#&ETH 44880 |ELUT 40,817 |F0FrUTH 70,335 | FETH 5221 [i&TH 9524 |FETH 4536 =Bt 8,627 |\ ITh 587 |$iBtH 1,108
15| fE ™ 44755 |[#BTH 40,687 |BETH 69,971 EBTH 5199 |F&#ETH 9317 |REHXER 4532 | Kpth 8,484 HIHAXER 586 |IxETH 1,100
16 FR&RTH 44446 |BE[ETh 40,668 |FE[m™ 68,822 |tERETH 5089 |JKETH 9,158 |fAHETH 4511 |BiG™H 8,481 |BEEth 564 |fHETH 1,099
17| Bii4E™™H 44242 |HikETH 40,394 |HHEETH 68,612 |IKETH 5012 |#L1RtH 9,153 |[{li&Th 4490 |BFFH 8,202 |JKETH 557 |ARERTH 1,084
18| B[t 44132 |BHET 40,349 |FE#RT™H 68,307 |fEETH 4997 |fEBTH 9,055 |Hi4B™H 4479 & 8,154 |IEETH 554 |#iTTH 1,080
1982 HEH 43,714 |t&ET™H 39,944 |Ri#BTH 68,075 |HH{EET™ 4878 |LRB™™H 8957 #HFTh 4474 |FHEH 8,124 |&LVf=FTH 543 |JKETH 1,016
20 HHRE[RT 43,625 |HHEETH 39514 |fEETH 67,868 |=IGTH 4,743 |luO 8,661 |#LiRTH 4445 |UfzTh 8,038 |HFFTH 542 | &Z=RBTH 1,008
21| g% ™H 42502 |BEth 38,982 AW EM 67,075 |luOth 4,738 [;Em 8,624 &R 4,439 |SLN=FH 7969 ETH 536 |FRRFTH 1,007
22/ fliEm™H 42,336 |FRMT™ 38,695 |ELUTh 66,608 |¥\iTTh 4717 Ao EWH 8,611 [iRth 4381 |BEH 7,906 |FXETH 535 |EEh 998
23 BFFH 42164 | &R 38512 |RIGTH 66,442 |SL\=FETH 4,652 |WNITH 8,455 |JIlIGTH 4369 |[dLAINTH 7812 |HIHET™ 529 |&LVE=FET 998
24| &R™ 42161 ¥ 38,341 ;&M 65,881 |#LiRtH 4616 |EiETH 8294 | AGEM™ 4,355 | S50t 7,764 | KBRth 520 |HEHRXER 988
25 EmRh 41,926 |BfFm™ 38312 |IKETH 65,856 |=IUTH 4586 |SULV=ETh 8,255 | KEmh 4299 |IEETH 7,757 | K:ETH 504 |[LETH 958
26 3Fm™ 41854 |IEEBTH 38,084 |[{EETH 65,627 | K;ETH 4,577 |f&f™H 8,246 |BEX[th 4292 |FEMH 7670 HHH 503 |B&HH 923
27| B 41,458 L& 38,032 |&LV=FEMH 65429 {L&Th 4543 |Ri&H 8,242 |lufzth 4264 |fHETH 7,665 |dbA T 502 | Kt 863
28| KBrth 40,740 |#AITH 37517 | KRt 65,105 |HIEARXER 4542 |REARXER 8,134 | K 4254 |BHET 7586 {2B&T™H 493 |EWATH 841
29| fEETH 40572 | Etath 37,402 | )I|iGTH 64,908 &R 4512 |ELUth 8,102 | ELVi=Fm 4,250 | KBrth 7574 =Bt 489 E¥Hm™ 837
30| =t 40540 | KFrT 37,261 |&iTH 64,462 |ERfETH 4,445 |E¥ath 8,092 |E&th 4244 |FATH 7570 |RERETH 479 |db RN 835
31 #iIh 40,440 |F0FT 37,165 |#&ETH 64,316 |#¥UTH 4400 |[LB™H 8,045 |IKETH 4202 |FE&RTH 7533 |f2FHTH 464 |B%[ETH 821
32| FE&H&™ 40,284 |fEETH 36,982 |HRANXER 64,056 =Hiath 4,397 | 8,006 |I#RTH 4198 |{E&E™H 7489 |[LB&TH 462 FKHET 802
33 [ UTh 40275 |&E#H#H 36,952 [|;E¥ATH 63,700 |[LB&TH 4378 |KiEMW™ 7,962 |#EETH 4105 |BX[Th 7482 K™ 427 2B 785
34;Fm™ 40,171 |FEWh 36,832 |HFFTH 63523 | RAEEM 4,341 |[#alumh 7957 [ K&Hth 4046 |*LiETH 7,445 |[@Uth 423 IRt 759
35 F 0 39,902 |RI&tH 36,690 [l&Th 63,511 |[dbdlvh 4,339 |BEH 7,711 | KPRt 4004 |[Evh 7,400 [3Rth 418 |f&8HTH 752
36 RIG™H 39,866 |;ETH 36,309 | K;ETH 63,168 |3Rth 4328 |[ERBMW™ 7652 |f2&Th 3955 |EWm 7379 |fEETH 394 |fB[™H 742
37| KEMH 39,652 |¥AUTH 35,901 |¥MITH 62,627 |;ETH 4318 |&iR™ 7602 HHH 3942 |HEEXER 7,319 | #L1RTH 392 | FFrLUTH 740
38| BT 39,406 | K:ETMH 35819 |ALMR 62,525 |EENH 4,280 |t&ETH 7,470 [ 3930 |&Rth 7,268 |R#ERT 367 |l 738
39 ¥ UTh 38,764 |=IGTH 35,759 |REARTH 62,459 |tEETH 4248 |FEETH 7,371 | fEHEETH 3,926 |Ri#BTH 7,264 |ERETH 363 |fEET 727
40 BT 38,513 |;E#¥ATH 35,531 | 62013 ERE™ 4237 |BF™H 7,335 |fEETH 3,845 | XKiEMW 7,263 | FIFRLTH 358 |ERME™TH 726
41 | fLIE 38,466 |=%0TH 34870 |EI&TH 61,550 |{BFTH 4,105 |[deANth 7,320 |BRE;mTH 3,814 |f&[mh 7,254 lLOth 341 |BEARTH 687
42/1lLAT™H 37,689 |#LiRtH 34,655 |dbAMTH 60,874 | KBt 4075 |{E8HT™H 7,227 | dbMTh 3,775 |[ERBW 7,236 | {E[ETH 326 |FHERTH 678
43| e A 37577 |lLuOth 34432 &Rt 59,703 |JI|ItH 3,894 | Krmh 7,004 |EHTH 3,711 |#TIvh 7117 EMATH 313 ;Zm 672
44 | fERE™H 37509 |dbAdNTH 34217 |[LBT™H 59,400 |HFFTH 3,865 |;E¥aTH 6,949 |fERTH 3,653 |JllisTH 6,856 |&Z%0TH 302 |#LiRth 661
4518 H 37495 |f@FTH 34,164 |{ERETH 59,259 | S&0th 3,807 |[BEARTH 6,777 |#XITH 3,627 |tEETH 6,851 ;&M 291 |lu@A™H 536
46 = 0TH 37,026 |tERfE™H 33423 |&%0tHh 58,861 |fALLTH 3,783 |#1FxIUTH 6,491 |E&TH 3523 |[LET™H 6,724 | KHtH 288 |\ &%0th 536
47|\ [LEH 36,636 |[LBET™ 33,118 |[ERE™ 57,729 |{£BTH 3,751 |JIl&™H 6,415 | K&t 3437 | K™ 6,669 |BEATH 281 | K&t 475
48 ANERTH 36,134 | FRE;TH 32910 LA 55,232 |REARTH 3726 |{k&E™H 6,130 |[LB&TH 3436 BB 6,570 {EE™H 223 |{EE™H 403
49 BEATH 35,630 |HEATH 32,258 |f&HTH 54,359 ;E#ATH 3,675 |[mh 5933 ERE™™ 3259 |HHEET™ 6,487 |EGTH 183 |=&h 313
50 ERET™ 34467 ERBETH 31,064 [{EBT™H 53,820 |\ FOFRLITH 3664 | Kpth 5871 |REKTH 3,157 |#BFmmh 6,412 RiI&H 182 | RiIGtH 310
51 Ko 33,692 |\ KHh 29916 | K&Hth 53,027 |FRE;Eth 3523 |E&ItH 5859 |{£EET™ 3,144 |BEFHF™H 6,283 |#AIUTH 159 |#umh 280
52fkE™ 32217 BB 28,868 |FREF;ET 50,175 | K&Hth 3,390 |FE;mH 4979 |luOw 3,106 |uO 6020 ERET 141 |BRE™ 214
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WESES 2,191 |2F 4013 |£H 1,836 |[£H 2639 |£H 3,298 |&F 1,980 |[£H 1028 |2F 2015 |£H 1,137
LN 4991 ¥y 11,276 |BETH 7173 BT 9567 |EHfFTH 7,301 |EfFH 4758 |IKETH 2109 IKETH 6,828 |f2&m 6,629
2\ &%0h 4621 |SHtH 9,960 |E U 3835 |F&#ET™ 7297 | R®HTH 5056 | KET 3299 |ERBTH 1,753 | R 3,733 |[umh 3,933
JfEET 3584 |REARTH 7,394 |FEET 3,707 |Euth 6,092 |RELLTH 4569 |LLfizth 2,880 |FHE#&RT™H 1,419 BT 3414 | EH™ 3,056
4| = E™H 3510 Ei&H 6,299 |#NTTH 3,634 HFiBTh 6,028 |LLfzTH 4,457 |tBRERETH 2645 |FEMH 1,358 | & 3,052 |fnFrTH 2,664
5 REARTH 2,820 |E%[ETH 6,067 |FETH 3605 |FEm 5373 | &t 4262 Mt 2574 |*LiEvh 1,349 | FNFxruth 2,999 |HfFH 2,355
6| E&FH 2755 E=Bw 6,047 |LLFsTH 3568 |UFzT 4881 |#£iRth 4171 &Rt 2,329 |F1FxUTH 1,338 & 2973 EBWH 1,714
7| LU TH 2,754 |fEBTH 5344 |FhiBTH 3,317 |Hii#B™™H 4803 |[HHERETH 4,025 |JIliETH 2,327 |JIlisTH 1,318 |#LiRh 2876 |Stmh 1,462
8| FEM 2,753 | Etth 5291 |[lhOTh 3,198 2Bt 4561 |[lLOTH 3948 |fEETH 2,268 [ 1,265 |fHET™ 2,777 |$i|m™ 1,458
9| RIRAX &R 2,742 | KHh 5263 |RItBTH 3071 uOth 4,040 |FE#&RTH 3929 luOth 2265 |#®WPET™H 1,257 | KBR™ 2,771 |[lLUfigth 1,369
10|11 2,734 |FEWH 5120 ;& 2446 |;ETH 3,833 |;EtaTh 3,857 |#¥iIth 2248 |AE{ERETH 1,235 |H&H&M 2,755 & 1,298
NEEL 2,732 |BEMtH 4977 KB 2,370 ¥\ T 3,820 |)I|ivh 3,790 |#AuTh 2214 |db TR 1,229 |ZRE&RTH 2,714 |FMHh 1,283
12|KE™H 2,665 |IUFzTH 4,951 |JIlI&TH 2,318 |#MATH 3,739 | KBt 3,719 |’ 2213 |HEHXER 1,209 |de At 2,679 |FRE&RTH 1,248
13| &R T 2,653 |MET 4944 |[t2BT™H 2316 |JKPET™ 3503 |#NTITH 3,708 |[LB&Th 2212 |[ERBW 1,208 |FEmH 2572 |HEEXER 1,233
14|88 H 2627 |E¥h 4868 |&iRTH 2218 L& 3,384 |FEW 3,705 |FETH 2210 |BEH 1,198 |#B#R[RE™ 2,465 |JIlTH 1,219
15|&LV=FTH 2,604 |F0FruthH 4852 |f8FHm™ 2,050 |JI|i&vH 3295 [iEm 3,681 |®#kATH 2,196 | KBt 1,194 | KiETWH 2,407 |3&th 1,195
16LE™ 2598 |[ERET™ 4743 |&%Ith 2045 |fEETH 3001 |AEHET 3586 |Etath 2,163 |RI&™H 1,177 ;& 2375 |SL=FH 1,184
17|84 RE™H 2511 |l 4548 |R#ATH 2034 |f&HTH 2999 |fEET™ 3550 |METH 2,161 |E#mh 1,110 |JIl&tH 2,322 | KBt 1,090
18| F#=E™ 2490 Ri&TH 4,493 |{&E&E™™H 2010 |S%0th 2938 |fHFTH 3520 &R 2,158 |t2fEtH 1,100 |ERET™ 2,278 |tBERT 1,086
19 BT 2479 & 4,468 |Stamh 1,925 EWT 2,873 |HEERXER 3511 |EEMth 2,155 |##/Emh 1,091 |HFEABXAR 2,256 |FEM 1,070
20| &R h 2434 |JKET™ 4434 |;E¥ATH 1,892 |&iRtH 2858 |fEETh 3,464 | KBt 2136 |ZEEM™ 1,088 |WLfzTh 2,192 |fEETH 1,068
21 #@ATH 2,402 |FH#&RTH 4428 |fEETW™ 1,876 |REHEBXER 2837 kKB 3412 |JKPET™ 2,128 |Ei&TH 1,075 | K& 2,183 |F&#E™ 1,044
22 RiItE™ 2,376 |HfFTH 4,263 |BHIREBXED 1,870 [{&&w 2636 |ELUT 3389 |BEHEM 2,101 [;Em 1,057 [ AHEM 2,148 |fHFET™H 1,039
23 &TH 2,365 3Rt 4191 & 1,827 |#EmH 2538 |EE[TH 3359 |ZBT 2,057 | XKiEWH 1,053 |¥AITH 2,053 |HiItE™ 1,037
24 \tEET 2,334 |fLiEth 4,161 |f2fEmH 1,783 | tH#E[RTH 2,468 |3 3,353 EATH 2,056 |¥AITH 1,042 |t2REH 2042 |BHET 1,016
25|f@ETh 2,292 |HitETH 4,157 |AHET™ 1,780 |dt AT 2467 |IKEBT™H 3,346 |BEHH 2,006 |BX[ETH 1,032 |FHfFmH 2034 |&iRtH 1,005
26 ERET™ 2243 |HEHXER 4150 |[Z=BmwW 1,771 |f8@™ 2436 |EBTH 3276 |HEETH 1,997 |#XHT 1,021 |FHET 2000 |IKEET 999
27 #LiRH 2,227 |#iEth 4,143 |#EETH 1,719 BEAT 2432 |[LBTH 3257 @B 1,956 |z 987 |BEATH 1,985 |#XH™ 996
28 B FTH 2224 |FHEEH 4,101 | SLM=FT 1,677 | K&t 2335 |BETH 3,245 |FnFrLTH 1,939 |FHEM 946 |#¥AIUTH 1,984 | KiEMWH 981
29| &R 2,155 |Jb T 4097 |[fEfEET 1,629 |SULV=FTH 2,327 |SLVf=FTH 3,145 |IEETH 1,937 |BRZE@Th 933 |#&ETH 1,964 |JKF T 968
30| Kprh 2,134 |#EETH 4,095 |REARTH 1,627 St 2,311 ¥ 3,133 | Ki#EMH 1,935 |#lumh 930 |®#HETH 1,929 |fEET™ 920
31| FaT 2,128 |F#HETH 4068 |K&HtH 1,619 | KR 2,309 |fKETH 3,125 |E%[™H 1,912 &Rt 913 | K&Hmh 1,923 | Ri&H 858
RBEHEN 2,102 | XM 4012 3R 1,609 AHEM 2293 | XKiZEMWH 3,115 | RIBmH 1,902 |F&HFT 906 |BXR[ETH 1,918 | ElUm 851
33|1RH 2092 |AEHERTH 3,994 | KBt 1552 =B 2,282 |F1Fruth 3,077 |8t 1,890 |/KFT 901 |[LB™ 1,839 |[EET 833
34| KiEMH 2057 |[LET™ 3899 |IKETH 1531 IR 2,227 |RikBTH 2,958 |REATH 1,868 L& 890 |&LV=FET 1,776 |BERET™H 825
35| BHEM 2017 |BEEM™ 3,899 |dbATh 1527 |EE[mH 2,095 |BEARTH 2,881 |;&th 1,860 |E=LV=FH 871 |JKPT™ 1,741 | dE AT 789
36| Ko 1,996 |SULV=FETH 3,880 |m&RTH 1514 | RI&GH 2058 |K&HtH 2,881 |#LiRtH 1,852 |f2ETh 859 |EI&TH 1,730 |#Uth 778
37 MEEET 1,963 |f@B&m™ 3821 |fHFT™H 1,481 |Ei&mH 2029 |[dbArdNT 2,856 |E&TH 1827 |[GET 845 |F%[TH 1,705 |SH™H 770
38| #nFxLh 1,936 =L 3,773 | XKiEM™ 1,453 3Rt 2,028 |#FiET™ 2,844 |RIEHXEB 1,810 &R 814 L& 1,640 |fERE™H 724
9\ LET 1,921 |¥MITH 3,661 |RI&TH 1,415 &R 2024 |fB8FH™ 2,805 |dbAth 1,771 |BEART 800 |Z&0th 1,632 |;E#ATH 716
40 Jb i h 1,921 |&F#FH&H 3,656 |EETH 1,391 | E¥FmH 1,941 |FH=mH 2,802 |Bi¥ETH 1,760 |ERRF 749 EETH 1,546 | ALIRT 700
A1\luAth 1,893 LA 3618 |#AUTH 1,355 [P 1,912 |=Ei&H 2,787 |EUth 1,726 &% 746 &R 1485 |F#Hm 700
42 ¥XiTh 1,880 | KRrm 3,447 |RELTH 1,289 | KiETMH 1,898 |EE[ET™ 2,781 |{Ef™™H 1,690 |fEET™H 742 BT 1439 | Kot 697
43| [EWLth 1,845 |f2RET™H 3326 ERBET 1,244 |ELLTH 1,889 |f2Em 2,772 |ELZ=FTH 1,671 |f@Hm™H 704 | FriBTh 1,418 |jETH 680
44\ fEHH 1,822 |EWmh 3,254 |\FIFxLTH 1,159 ¥ U 1,868 |RI&™H 2714 |FEEH 1,668 | K& 674 |;E¥ATH 1,372 |f@HTH 657
45 FRERTH 1,781 |€RH 3,232 |EEMTH 1,137 ERET 1,782 |ERE™™ 2566 |f@FTH 1,639 [{EE™ 665 |FREFmTH 1,365 [{E&m™ 605
46 I B h 1,780 |f8Hmh 3075 |ERimH 1,134 | FMEtH 1,726 L& 2436 | Kot 1,633 |Friam 634 | R¥mh 1,331 |BWmH 596
47{EE™ 1,670 {&&Em™ 2968 |REFTh 1,029 |0 1,511 |ALiIRTH 2315 [{l&Et™ 1,620 |ELUH 625 @B 1,296 |lLAm 583
48 | f&REH 1,634 ;W 2,755 |[LB&TH 978 |ILE™ 1,485 |t 2290 ERET™ 1,602 |[lLAT 624 |lLOTH 1,146 EREWM 578
49 RIGH 1,512 |BRZE;/mh 2,720 |FFFTH 869 |HFTH 1,358 |=%0h 2220 |BHHH 1472 | B¥mH 601 |EUmh 1,116 |[¥IT 547
50 B HRh 1,381 EW 2,694 |FEF;mT 860 | H&HE™ 1,248 |{&&m™ 1,990 [{£ET™ 1,339 [E¥ATH 597 |f&FHTH 1,097 |geEARTH 506
51;&mH 1,263 |BHEH 2,689 |#LiRH 791 kLR 1,232 |&H#&T 1,950 |&%0H 1,320 |Hi#E™ 526 |HiItE™T™H 1,015 |El&H 458
52;EfTh 1,136 | IxEmH 2,636 | HHM 738 | #BEET 933 |#E™ 1,629 |FFET 877 |ELT 497 [T 914 |#BEE™H 302
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0 £H 1,075 |£E 1,477 |&2HE 2932 £HF 953 |&H 1,341 | £HF 3483 |2HF 2058 |2HF 5763 |[£=HF 18,648
1f&8m™ 8,676 |BHTH 2591 |BHEH 6,055 |JKETH 3,746 |JKET™ 3759 |FERETH 5406 |FENET 3597 |]Rth 6,680 |3Rth 24,164
2| R¥m™ 3476 |REARTH 2,268 |FhiETH 5115 AT 2,020 |#LiRTH 3237 |ELZ=FH 47711 |EFEtH 2844 |fHFTH 6,639 |F0FRLTH 22,720
3| [ 3,179 |8t 2,246 |ELUTH 4617 |#LRTH 1,784 |&H#&™ 3,193 |ERMmh 4,664 |SLN=FH 2810 |R&RTH 6,633 |fHETH 22,341
4| F 00U 2,708 |EUth 2,198 |EEAXTH 4590 |REKTH 1,540 |#XHT 3,043 |gi#ETH 4638 |JKET™ 2,634 |FFrLTH 6,555 |R#&RTH 21,354
5 B FFTH 2508 | EEtH 2,160 |JI|I&TH 4295 |EHHH 1,478 |REARTH 2,603 BT 4597 |#Fi|a™ 2613 | KETH 6,478 |;Em 21,350
HEI=D 1,854 |#HETH 2034 |EWvE=EH 4038 AT 1,310 ;& 2238 E=BEW 4514 |@iItE™H 2578 |®AT 6,413 | KEM™H 20,812
7| &% ™H 1811 | FEm 1,955 |[dbAuinm 4012 |=i&H 1,291 |FEm 1,852 |HEAXER 4,372 |REHXER 2565 |ELUTH 6,377 |FXEATH 20,748
8|luRsTh 1,763 AR 1,932 |#XHT 4009 |FEm 1,281 |$¥immh 1,768 |/KFT 4272 |BE[TH 2525 | BEHEM 6,313 | =B 20,595
9| $himah 1,562 |EREEHEBXER 1,888 |R¥m 3975 |&WLVEEH 1,210 |[¥MIth 1,764 |FEH 4143 =BT 2473 | =BT 6,305 |#\TTh 20,487
10/ fli&H 1,544 |)IlI&TH 1,861 |LUfsTH 3,889 |#EETh 1,185 |E=LVv=FHh 1,586 |f&ETH 4021 |#EEH 2,470 |EEH 6,204 |IKETH 20,306
11| & 1212 |£R™ 1,826 |EREEABXER 3,750 E#Th 1,145 |IUFzH 1,541 |fB¥E[R™H 4013 |Eth 2414 W1t 6,184 |RELLTH 20,237
12/3&H 1,203 | dt AT 1,792 |2HEW 3722 |HEHXER 1,064 |El&H 1,532 |BERE™ 3941 |FEw 2,365 |IEETH 6,184 |#FhiBT™ 20,217
13| &WV=FTH 1,200 |LUfizTh 1,756 |fAET™H 3,661 |BE[tH 1,056 |t#&ETh 1,510 | AHET 3935 |fHfEETH 2,348 |;EMH 6,172 | XBrth 20,056
14| R ABX AR 1,177 JKFEt™ 1,755 |Ri&mH 3,635 |BHuh 1,026 |EREEEBXER 1,499 |JIl&TH 3,907 |JIlisTH 2,328 |t 6,078 |BHET 20,023
15 4Lt H 1,142 | F=#H 1,718 |FEm 3,607 |JIligTH 988 |EHTH 1,417 |{EET™ 3818 [E#ATH 2317 |#hiBtH 6,054 |fEHERT 19,989
16| fB#E R H 1,094 | ELV=FEmH 1,665 | KPR 3598 |HHIERTH 973 |EE[Mth 1,368 & 3,809 |[i&ETH 2,309 |FEETH 6,021 |FEf™H 19,756
17|kt 1,093 L& 1,663 | KiEMH 3524 |#FiBT™H 968 |fRIE[ETH 1,353 &t 3,799 |FHE#&RTH 2,283 |E8RA™H 6015 |[ERBEW™ 19,685
18| )10 1,090 |FnFrumh 1,654 L& 3,456 |ER[ETH 968 |Rth 1,338 | &#th 3,765 |WuOth 22771 |ILE™ 5959 |BEuH 19,525
19 BT 1,073 =B 1,643 =R 3,434 |U¥th 955 |fEE™H 1,334 |[fliET™ 3,711 |fkET™ 2275 | BHH 5,959 |RiItETH 19,422
20|%€R™ 1,040 |#¥IT 1,622 |F0gru 3404 | ZEET™ 930 |;E#ATH 1,305 |IKET 3592 | KBRth 2,269 &[T 5932 |E#TH 19,391
21 |fEET 1,039 |[f@Hm™ 1,618 |#¥AITH 3328 |F&#ET™ 846 |FRMTH 1,182 |iRth 3541 |E&tH 2,248 | K&t 5912 |S#mh 19,325
22 &R TH 1,025 |BERET™ 1,613 kPt 3275 |RIGm™H 818 ERE™ 1,149 | KPRt 3538 | K™ 2242 | Etth 5910 |ELUmh 19,279
23| #HET 1,025 | KiEMH 1,568 |&RTH 3,196 |f&FHTH 812 [liE™ 1,133 |&5H0H 3538 ;&M 2,207 |FE;ETH 5873 |F&#ET™ 19,107
24| FEmH 1,007 R 1,541 |#AlUm 3171 3Rt 805 |Ei&tH 1,128 Wizt 3523 |f&BTH 2202 ERE™ 5862 |[LETH 19,061
25 RIGH 966 |E=ATH 1,539 |#ETH 2998 |;EMH 789 | JI|&tH 1,118 |fE™ 3505 |WufzTh 2179 |&iRt 5841 |BH&H™H 18,958
26 FHEE T 954 |#ETH 1,538 |#Fm™H 2,996 |[lLOvh 786 =Rt 1,113 | E®HmH 3439 |IxETH 2,107 | KR 5826 |{EETH 18,884
27| Kirh 932 | KBrth 1,491 |BEH 2941 E¥Hmh 785 | ZTHEM 1,061 [lLAT™H 3426 |[B&H™ 2,092 |;E¥ATH 5,798 |BE[Elmh 18,875
28| B HET 911 #PFTh 1,483 |ZR&RTH 2835 |[{i&ETth 777 |ZRERTH 1,055 |f@&Th 3403 |AEHET™ 2,073 |SLV=FTH 5776 |J)KBTH 18,821
29 fHETH 899 |i&th 1,468 |t 2,827 |FH#&RTH 751 |f@HT 1,044 [P 3,395 ¥Rt 2040 |(luATh 5,767 |SL\i=FTH 18,503
30/ fEET 895 |RIGm™H 1,450 [{&&t™ 2,792 |Eluth 729 |IKETH 1,007 [E¥ATH 3,366 |fRffm™ 2037 |FEmH 5725 |R¥H 18,481
31| B 874 | &Xm 1444 |IXETH 2,786 | KHh 719 |FH#E™ 973 |&F&HF™H 3200 |fEETH 2,034 |Ei&H 5682 |FiEM™ 18,414
32| BEfEH 853 |IxETH 1,406 =& 2730 ZE=BH 710 | K:ZEh 945 |#¥iIth 3,169 |RI&H 1,974 |fB¥E[R™ 5,677 |fLiRtH 18,079
33| Mmlumh 835 |lLuaTh 1405 |[EIRET™ 2,684 | KiETH 710 |EWUH 933 |Eumh 3,146 |fHFT™H 1,953 2Bt 5,653 ¥t 18,061
34 RiItE™ 828 EIRE™ 1,380 | 2565 |fEET™ 710 |luAth 926 |&iRth 3,146 |BRIRET™ 1,930 |[deAimth 5645 |RI&TH 18,036
35 & %Nh 762 |FHFERT 1,380 |[lLAT 2,460 | KFrth 708 | KBRtH 920 |f&fth 3,121 |t 1,891 |ALIRTH 5644 |JbAdiTh 17,891
36| K;EMH 755 |[LB&TH 1,340 | 2449 ERBE™™ 683 |[ELLTH 917 | K:#EMH 3,101 |Ei&™H 1,859 |JKPETH 5618 |[lLOH 17,688
37(dL A 729 |[fEETH 1,333 |FHE=ETH 2412 |IKETH 675 |&iRtH 912 |HfF™ 3087 |[EB&TH 1,854 |HI#ET™ 5,608 )l 17,488
38| BHEM 720 [{E&BTH 1,333 |EHfFm 2,357 |[{EETH 665 | K& 910 | FNFrumh 3,082 |XK:iEMWH 1,765 |#ALUTH 5593 |BRfF™ 17,375
39\ fEHTH 659 |[#AlTh 1,330 iR 2,356 |FnFriLTh 664 |HItE™H 847 |ILB™ 3,055 |#TITH 1,749 |)Il&TH 5581 |WUfztH 17,318
40 fEREH 645 |#LWRTH 1,307 |#A¥R[R™H 2,300 | HiETH 653 |F0FRLTH 836 | KHmh 3,007 |BRfFTH 1,730 |{&&m™ 5540 |HEEHRXER 17,268
41 EATH 641 |= 5T 1,301 [E#ATH 2,235 |E0th 652 | R 829 |EIRET 2979 |EH 1,729 |HREARXER| 5450 |{EE™ 17,105
2| IEET 635 |\ARERTH 1,299 |BiE™ 2,234 |#¥AUTH 646 |#ETH 824 [T 2892 |&RTH 1,711 {85t 5416 |&RtH 17,009
43 BB 620 |H&HH 1,285 |f@H™™H 2220 |[LBTH 640 |dbAmTh 802 |RI&mH 2,882 |#lumh 1,676 |LLUfsTH 5346 |=l&TH 16,929
44| Ko th 576 |HIFETH 1,283 ;& 2206 |&iRt 590 |{&E™H 769 |E&TH 2,858 |f0FrLTH 1,673 | R 5290 |#EETh 16,902
45 ¥3iITh 572 |;E¥ATH 1,279 |SH™H 2,167 |f#ET™H 579 |#aluth 740 |[fBHTTH 2,781 | K&Hm 1,655 |f2R@T™ 5271 |$&[@™H 16,860
46 ;Em 5711 |F#Eh 1,273 |5 2,160 |fALLTH 578 |[LB&T™H 703 | #LiRTH 2658 |{EEB™ 1,650 |#EmH 5255 |ARERTH 16,826
471 BRET 508 |$EfEH 1,212 |ALIRTH 2,132 | St 563 | &t 635 |[{EE™ 2,643 |REKTH 1,643 |ERRFTH 5225 |{EET™H 16,650
48|lLAT™H 504 |[@th 1,192 |&F&F™ 2,130 |dbAdiTh 555 |E&0mh 599 |#aluth 2619 |[dbdimh 1,534 |fEE™ 5136 |REARTH 16,469
9{EET 479 |BFFH 1,072 | K&t 2099 BB 507 |f2B&Th 511 |dbhvh 2610 |[f8Hm™H 1,489 |fiET™ 5047 |f&FHT™H 16,331
50 &= 5 TH 410 | K%t 949 |AREETH 2041 |FEmEH 476 |f2RET™H 499 |BELTH 2497 |BEH 1,386 |HEATH 5015 |[{i&E™™ 15,981
51 REARTH 390 |;ETh 889 |[LBTH 1,881 |BfFmH 404 |BRFTH 427 |REAXTH 2,494 |#LiEvh 1,326 |S%0TH 4963 |S4%0th 15,881
52| ARE@H 288 |f@BTH 865 |fBE™H 1,560 &R 363 |ARERT 346 |BREETH 2062 |FE;™H 1,194 | K& 4586 |KHtH 15,361
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—————————— &g BBD- |- <HE: - |-————XKE - |————<H;E: - |-———HKE EB)>-
0 £H 2154 £HF 2261 |[2F 4840 |£E 4998 |2=HF 3,664
11U TH 3285 |FEM™ 3,231 |lufgth 12,131 [lUfigh 7,326 |HEAXER 4,946
2| FEH 3,137 |JIlih 3,187 |ERERTH 8,305 |#&ETh 7,150 |#&ETH 4,937
3|&LV=FTh 2979 |[f#FT™H 3,030 | KRG 6,909 | K&t 6,929 |FEH 4,646
4 ET™H 2937 |¥ETh 2,876 |HEARXER 6,580 |FRE;ETH 6,683 |SLV=FmH 4,493
5 Ak 2,778 |&LV=FEmW 2,861 |#&ETHh 6,417 |BAEEM 6,345 & 4,304
6|t /ETh 2,762 |HETH 2835 |&LVE=EM 5990 |FETH 6,211 |EUH 4,249
7|fAERE T 2,675 |tEERT 2,718 |FEH 5868 |tHIERT 6,206 |RETH 4,238
8| R AR X &R 2571 EBH 2,713 [iET™H 5790 |FRIEHXEB 6,185 |JI|IgTH 4,191
9 ZEEM 2565 |AEET 2694 | BEHETH 5783 |MEFTH 6,156 |fEIE[ETH 4111
EI=T 2482 |HitETH 2,693 |Ei&TH 5517 |[Z=RBt 6,080 |{BfETH 4,086
11|&Rm 2,408 |HEHERXER 2,578 |JIligsth 5506 | KFrtH 6,050 |fFETh 4,068
12|Bii4E™™H 2,383 |#FiET™H 2,565 | FHIEETH 5242 |&WZE=EH 5871 [;E¥ATH 3,875
13| BT 2,361 it 2,466 | KFRtH 5187 3Rt 5666 |;ETH 3,862
14 )KFtH 2,359 | KBxth 2433 |#ETH 5125 |JIl&tH 5476 |Z=RB™H 3,853
15 #Fiam™ 2295 |&iRt 2432 |EBTWH 5086 |{li&Th 5414 |BFFH 3,853
16| B 2281 |JKETH 2422 Rt 5,045 |BX[ATH 5,365 |RIItETTH 3,847
17\ 55F%M 2266 |t 2,410 |FkATH 4900 dbAdNTh 5302 |XK:ETH 3,833
18l E™H 2252 | Ei&t 2,409 |;E¥ATH 4884 &Rt 5286 |#LIRH 3,811
19| 4Lt ™H 2250 |[{u&TH 2,372 |f&[™H 4747 |ElUTH 5183 |ERfEl™ 3,807
20 KBrth 2,223 |#L1RTH 2,357 |dbAumth 4,733 |HiAETH 4918 |K&HtH 3,776
21\ f&8Hh 2209 |IETh 2,330 |€RH 4684 |ElFTH 4881 |lLfisth 3,747
22\;Fm™ 2209 |ELuth 2,325 | ¥ 4618 |tRMm™H 4,778 |FH#ETTH 3,658
23| B[ 2192 | &F#FHFH 2297 |fBE™H 4595 |ERFFTH 4,738 |&iRt 3,649
24| F@AT™H 2,185 [EATH 2,293 |EUTh 4566 |IFETH 4690 |fEBTH 3,642
253 2162 |F&#ET™H 2,283 |BE[TH 4516 |FH#EH 4652 |fEET™ 3,590
26 RIG™H 2,161 |#¥iIvh 2,223 |Ri¥BT™H 4485 ¥t 4500 |FE&RTH 3,543
27|F&E™H 2,155 |f@8FhH 2,193 |FEETH 4416 |ELLTH 4469 |KFETH 3,535
28 &R ™ 2110 |fEET™ 2190 |IKETH 4412 |BHFT 4460 |[LBT™H 3,518
29 ;EMATH 2072 |#HETH 2,184 |F#&RTH 4,362 | F0FvLTH 4450 3Rt 3,513
30/ fEET 2002 | E¥mH 2,156 |FBFFH 4262 |FLRTH 4414 | KBrth 3,479
N LET 1,986 {ERET™ 2,135 |fLiRTH 4176 | KiEm 4,390 | 3,464
32| lURsh 1,964 [ dt AT 2,118 | XKi#EmH 4162 |Z#RT 4,389 |t 3,443
33 K& 1,958 | BX[ETH 2111 |#hiBTH 4117 2B 4313 |[ERB™W™ 3,403
34/t A Th 1944 ERBEMW™ 2070 |fEET™H 4073 |EWTH 4208 |IKRETH 3,374
35 i 1,938 LUz 2,021 |B¢[E™H 4,056 |E%METH 4129 |REKRTH 3,373
36| E%Nth 1,870 | &%0H 2003 |[LE™H 4029 ;Em 4108 |AEHET™ 3,366
37|FWth 1,859 |[LET 1,981 | 3963 |fEET 4,068 |dbAdNT 3,360
B ERET 1,852 |#alumh 1,975 | 3,861 |FiEm 4058 |{EEB™ 3,349
39 ¥R TH 1,818 | KiEM 1,909 |JKETH 3820 |[LE™ 4015 |[BH&HF™ 3,332
40 B FTH 1,809 R 1,897 |f@HTH 3,750 |#KHETH 3994 |f&HH 3,331
41| KEH 1,806 |#0FxIUH 1,885 |#alumh 3,738 |/KEFTH 3934 |®FHET™ 3,286
42| Ko 1,698 |E&f@TH 1,873 |F0gru™ 3,707 | K&HTh 3,801 [lL@Th 3,258
43| #luth 1,690 |REART 1,860 |E%0h 3,648 |REARTH 3,689 |#FhiET 3,224
44\ 1LAT™H 1,672 |FRRFmH 1,805 |#AITH 3551 |[ERBE™W™ 3,680 |FE;mh 3,224
45 REARTH 1,667 LA™ 1,776 |BEAT 3478 |WNITH 3641 |RI&™H 3,176
46| S ath 1,631 | K9 1,723 | Ko 3,365 |#AUTH 3,603 |Stamh 3,137
47 F 01U 1,608 & 1,717 | &#mH 3,362 |BHTh 3575 |BEH 2,944
48 B 1,608 | St 1,692 |&H&HF™ 3210 |f&FH™™H 3561 |#iImh 2,923
49 BT 1,577 |BETH 1,605 [{£E&T™ 3,021 |=EHth 3,499 |#lvh 2,863
50 &= 5 TH 1441 | E&H 1,592 |[luA® 2945 |[{EET™H 3281 |Ei&TH 2,754
51 {88 1433 2B 1,503 |EHEmH 2939 | Etth 3271 |Fngruth 2,737
52| ARE@H 1,406 |BRZ/TH 1,281 |ERET™ 2,832 luOvh 3,195 |E&0th 2,156
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